TVHS

indiresult.in whatsapp - 9352018749
Post Code "~ Question Paper Code Question Booklet Series

87 25/33 B

To be filled in by the candidate. (Read the instructions before filling)
qoETfl gRT R W | (RA ¥ teel ey smvd we)
Roll Number (in words) :

FgpHie (=l H)

Roll Number (in figures) :

FIAID (DT H)

Centre of the Examination: 0 s
ol v S

CCESS FMARTNER

=

N.0O. _ :
Signature of Candidate D-0-E 2} / 01 / 2018 Signature of Invigilator

PIRR IR IR e )

Competitive Examination
Y - Qe Ui : 100

Time : Two Hours Max. Marks : 100
el 3 f?l? o (Instructions to candidates) :

F gwi & IR AT A T AOTHRO (OMR) STR-T9F TR & § |
Answers are to be given only on a separate OMR Answer-sheet supplied.

F sfiRed sH0THOR SR—TFE ST TE ST WRAT| 36 96T TN Wau e a3k 5 R T s
% faRad F& ¥ A 7 BT T8 |

No additional OMR Answer-Sheet will be provided. Candidates are advised to handle it carefully and do not fold
or tear it except given perforation.

& sﬁo?xﬂow—mwm#@ﬁ/ﬁﬁmﬁmmmmmhmﬁmamG\aﬁa
T WA T W
Use Black/Blue ballpoint pen for writing and filling the circle(s) on the OMR Answer-sheet. Don’t use Gel Pen.
F g e (IR du dF A) dad SNl @ dded weRi § Y| o pHie IaR-TH W U@
TE-JRGH & 7= TS W & T @ A S ford | el @ el W ol # ferger fod
Write your Roll Number in English Capital letters only (words and figures both) on the Question booklet as well as on

OMR Answer sheet. Each numeral is to be written in a separate block printed and darken the corresponding circle below on
the OMR Answer-sheet.

AR : OR SFFHHS 0123456789 TH THR o |
Lxample: Roll Number 0123456789 shall be writien as follows:

.:ajv: ds ZERO | ONE | TWO | THREE FOUR FIVE SIX | SEVEN | EIGHT | NINE
o &
In figures . 1 2 3 4 5 6 7 8 9

F I SNoTHIR IER-TFE R FE-GRaET W 3ifdd Bie i 1@ 960 FTER & Hafa gel @ weue @ W
Write the Question booklet code as printed on question booklet on OMR Answer-sheet and darken the circle
corresponding to the Question booklet code.

F e W AR B ol 1.0 AT A TR | T SwR o7 W % 3% Brel R 3R R 9 #1 1 S T8
fear & S9@1 @13 3T ol feTr W |

1.0 mark will be given for every correct answer. On giving wrong answer % mark will be deducted and if question
is not attempted by the candidate, no mark will be provided. .
<™ 7 36 | (See last page.)

L
v
o«
G !N ‘D‘IE E§H!'J:E; indiresult.in whatsapp - 9352018749



indiresult.in whatsapp - 9352018749

1, The curve indicating complete information ™ @ R F ‘Iﬁ SHEN 3R a9 9%
about learning is called : ® Hel AT E
(A) Curve of increasing return (A) IfEHF EdT 9%
(B) Curve of decreasing return (B) ENHM 3TacH g
(C) Curve of equal return (C) THF A9a 95
(D) S—Shaped Curve (D) TH—3THR Th
& What is not essential for measurement of IR A9 B % ford /T A Tl R ?
EA) Tg;n tactics of teachin 0 Wi 1 T
o know tactics o Tenalt
(B) To know validity of examiiations (B) , @1 1 T FE
(C) To know reliability of examinations (C) Tl P favawigen QB
(D) To know acquired skills of the students (D) TRl grr aiftfa @l & s Fn
3. Intelligence tests are used for : ﬂﬁﬁ TR BT WART far o @
(A) Grouping the students in school (A) faenem 4 orE) @ e e & ¥
(B) Guidance purpose (B) e & W %@
(C) Selection purpose (C) T B B YA ‘gg
(D) All of the above (D) aqg?ﬁ T
4. Which of the following is not the element of ferfafaa # & oF a1 SgEUa wRacT Prere’
‘Stimulus Variation Skill” ? & dd Tel & ?
(A) Set Induction (A) fo=arg IRor
(B) Movement (B) HdoH
(C) Gestures (C) TE-9r9
(D) Change in voice (D) qTH—aHY qRadq
5. A teacher plans his teaching learning process s Red auh Rev—afm ufsar @ o
keeping in view : 910 GG o ¥ Y@l §
(A) The objectives formulated (A) Fffa Igew
(B) The human and physical resources (B) 4 T4 s gOr=
(C) Both (A) and (B) (C) T (A) W (B)
(D) None of the above (D) G‘q'gfﬁ ¥ { BIg e
6.  How will you mainly develop self-discipline Iy o+ el § g@ dk w g PRINTT
among your students ? fod yar faalm & ?
(A) Giving them responsibilities (A) S9! STREIIE <HR
(B) Telling them rules for good character (B) 3™ ARF & o aamx
(C) Giving punishment (C) TS I
(D) Following the rules :
(D) Rl &1 e e
4 Teaching aptitude means : Reror arfagar & aert @
(A) Devotion towards teaching work (A) v a1l & ufa gwdor
(B) Desire to become a teacher (B) RE a7 & g1 W&
(C) All the requisite abilities for profession ©) fomm 3 waEy @ 99 Tifd T e
of a teacher :
(D) Good rapport with student (D) BRI ¥ 3BT Hefuild
8.  From the following, which is the best method frfoRed § @ foedt femft & sr=aRe w=rral
of measurement of a student’s inner feelings ? D HY @ gaq g e R ?
(A) Questionnaire (A) FeEe!
(B) Interview (B) HEHR
(C) Sociometry (C) FHImfd
/'. (D) Transplantation method (D) YR fafey
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9.

10.

11.

12.

13.

14.

16.

@

The cognitive behavioural skill of enabling the
learner, to understand the use of theoretical
statements in real situations is called :

(A) Understanding

(B) Application

(C) Analysis

(D) Synthesis

While writing on the blackboard, out of the
following options, what will you specially keep
in mind to decide about the size of letters.

(A) Distance between blackboard and students
(B) Distance between blackboard and teacher
(C) Length of classroom

(D) None of the above

From the following, which one is not the
element of ‘guidance and counselling’ ?

(A) Adjustment

(B) Orientation

(C) To develop emotions

(D) None of the above

Which step is not included in Action Research ?
(A) Selecting the problem

(B) Generalisation of results

(C) Formulation of action hypotheses

(D) Preparing plan to overcome the problem

To understand the
understand :

(A) The law of similarity
(B) The law of variation
(C) The law of regression
(D) All of the above

heredity, you must

One of the following is not the method of
educational measurement :

(A) Interview

(B) Norm-referenced Test

(C) Questionnaire

(D) Observation

What is the real carrier of hereditary traits ?
(A) Chromosomes

(B) Nucleus

(C) Genes

(D) None of the above

A child is scared when he see black dog, black
cat and black coat. This conditioning is
involved in :

(A) Generalisation of response

(B) Generalisation of stimulus

(C) Both(A) & (B)

(D) None of the above

INDIRESULTE
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10.

&

12.

13.

14.

13,

16.

wWHYE R forad W9y, Rl B AHR T8 B
& ford 3y e 91 &1 fRy e <t ?

(A) e o el & weg @

(B) WHUE T Rwid & w8

(C) TET—E B owTg

(D) SUYH A ¥ B T8I

frfoRea # & ol @1 g fdee @ Wl
BT 8 7

(D)wjﬁﬁﬁmﬁé?é’f

foharcT SRR # B W1 UG Wfford el i 87
(A) TR @ A

(B) URH & ARG

(C) forurers uRdegal &1 ffo

(D) TR B R B & forg Frorm fmior
T B G B fordl YD aRH wU 4§
HHEAT BT :

(A) Gl &1 g

B) forar &1 faw

(C) wfm &1 fag

(D) Sug®

forafoaa § @ ve dftre 7w o fafy =8 2
(A) YRR

(B) AH@H—GaRd TXIE

(C) ¥EEal!

(D) 3@dE

R O &1 IRafE Haed w1 € ?

(A) T

(B) o5d

(C) =

(D) SuH 4 4 Pl T8I

UF S B G, Preil [decil G dblel e Gl
TGN T AT T | T VOR B e 4
fafea 2 :

(A) 3FfsRaT T FHITERRT

(B) SENE & GGG

(C) THI (A) 3R (B)

(D) SYI® ¥ ¥ P TE
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The practical method to make student understand

the meaning of the difficult word is to :

(A) Teach them usage of such words in
sentences

(B) Give their antonyms

(C) Give their synonyms

(D) None of the above

Personality of an individual is which aspect of
his behaviour ?

(A) Cognitive aspect

(B) Non-cognitive aspect

(C) Intellectual aspect

(D) External aspect

As a teacher, if you want to correct the bad
habit of a student, which theory of learning
you will keep in mind while planning the
action ?

(A) Insight Theory

(B) Trial and Error Theory

(C) Classical Conditioning Theory

(D) Field Theory

Why micro-teaching is
classroom communication ?
(A) To get feedback

(B) To develop various skills
(C) To complete the lesson
(D) To evaluate

The behaviour of a teacher may be from “verbal’
to ‘non-verbal’ in communication process.

(A) Itistrue

(B) It is not true

(C) Itis partially true

(D) None of the above

important  for

While doing group teaching, out of the
following, which method you will apply to
solve individualized problems of each student?
(A) Lecture

(B) Programmed Instruction

(C) Tutorial

(D) Demonstration

While assigning a ‘project work’ to the
students, a teacher should always keep in mind
that it must have :

(A) Educational purpose

(B) Relation with real life situations

(C) Learning by activity

» (D) Allofthe above
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18.

19.

20.

21.
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23,

(#)piResuL
feenfidl & a7 v=i &1 e wHEm
aqeiRe fafy &

(A) S YIE] B 9@ H TR D GG
B) fowda e et v g

(C) TR} ¥ gam

(D) SUgH 4 ¥ B T

e, foe afed & TIeR &1 B AU 8 ?
(A) WSS U8

(B) R—UFMIS U&

(C) dfgs ua

(D) g Uy

TS B & A1 gfe g o faemfl @ g2
A I YR F1ed &, al fhared Frar 1
g Y e @ e Rigia & sam & e
(A) Frgfe Rigia

(B) W™ U9 Ffe figia

(C) e e Rigia

(D) & Rigia

FET-THe] TRV B GeH— R R v & ?
(A) go-dm & -

B) fifd= el & e gg

(©) WT?W%@

(D) Teid &g

o sk ¥ Rwe &1 @der Wies
JEfEd qF B qHdl ¢ |

(A) TE e 8

(B) T T &

(C) % if¥re &9 ¥ wel &

(D) 7% § & B T
afen—Re wvd vy fRefE o afia
TR & §AEE vg Frfoled 4 9§ o0 B
o fafey &7 T FNA ?

BEl & TRAG FE' <0 T U6 REw @
Y & A W& AR 6 g

(A) waoH e &

(B) WYy grafad wiiad & gRRefadi 9 @
(C) ¥ o gRT &

(D) SudH
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Right to Education Act, 2009 has a provision
for :
(A)
(B)

Right to free and compulsory education
No mental and physical punishment to
child

(C) Arrangement for protection of child rights
(D) All of the above

“It is wholehearted purposeful activity
organised in social environment.” This
statement indicates towards which teaching
method ?

(A) Demonstration

(B) Heuristic

(C) Problem Solving

(D) Project

The level of anxiety which makes student
receptive of learning is :

(A) No anxiety

(B) Excessive anxiety

(C) Normal anxiety

(D) Learning has no relationship with anxiety

In team teaching, a team of :

Teachers, who prepare the teaching plan
and implement it

Students, who prepare the teaching plan
and implement it

Teachers and students, who prepare the
teaching plan and implement it

None of the above

(B)
©
(D)

Personality traits of Mesomorphic individuals
are :

(A) Traditional and social

(B) Peace loving and solitary

(C) Energetic and angry

(D) None of the above

Teaching strategy is a :

(A) Plan to achieve objectives
(B) Method of teaching

(C) Extra activity in the class
(D) None of the above

‘Known to unknown’ is a :
(A) Teaching Method
(B) Teaching Maxim

(C) Teaching Technique
(D) Teaching Device

24.

25,

26.

¥

28.

29.

30.

R a1 AR sffm, 2000 F yrawE 2
(A) Figed vd aferd Ren &1 fReR

(B) Td B INING UG AHRIP g0 BT vy
(C) el ATHRT & 0T BT @GR

(D) STH W

“YE I arara]eT # A fear 9 aren
TGS Sqewql frarde B |7 98 wue R
! fr Y 9 3R W FwaT 8 ?

(A) weeH

(B) ERReH

(C) T JHEH

(D) Wide

i &1 98 R W B @ 9 @ ford TR
A& TEE

(A) fiimm 91 2

(B) s fiar

(C) 9=y fear

(D) e (ige) &1 ffar & 918 Gay e @

< R d < &

(A) IS F, W1 R GeE B R R
ST fharaaT e ©

(B) BTE &I, AT R0 TS $ TR R 9@
foaraa axar &

(C) =S T4 BEI @1, Wl R g &
TR R IS fHuragT aear €

(D) STw # | I T

IRAHR ANING a1 dTel Afdd # IR & aTel

afdied o7 B & -

(A) URRRMETE] T4 HHIDH

B) W< g 19 vaia i

(C) el Td e

(D) U # 9§ P AL

R0 g @ R

(A) SeH BT WG TR D AT
(B) T o1 fafey

(C) @er ¥ afaRaw i

(D) STw ¥ ¥ P T

T ¥ T DY AR B, T
(A) o fafy

B) R g
(C) TR ddiid

(D) R e

"o
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If there is any mis-match in Hindi & English version, then english version will be acceptable.

T Faa SR IeR-TF W FlEd Fer W & R a9 | A0THAR0 SR-TA% 7T FE-JRAET T BIE
aaifere fee 1 o ol 7 & FE W A s AW ford | T N e v o U@ AR sifea e T e @
e W voE @ @1 e ¥ e @ o= R @ gre o B &1 we s g afvia 21 59 veR @
FRTE T R AN 3iF A TR |

Make the mark only in the space provided on the OMR Answer-sheet. Please neither make any stray mark nor
write your name on any part of the Question booklet and OMR Answer-sheet. Candidates are also
insturected that it is prohibited for trying to hide any circle by using fluid, eraser or scratch in any method.
Negative marks will be provided on these activities.

& e a1 (Rough work) ¥e JRaar § & fiar W
Rough work is to be done in the Question booklet only.

F 1 TH 3 IR g I TG Aded B ITAR @ & I B B IR | TF § 3G W T gt I
TR T BE e A U9 7 @rge e B g IR AT W |

Darken only one circle corresponding to alternative answer that you choose for each question, as darkening of
more than one circle shall be treated as wrong answer.

TETERY : HA Shfo fet fawy @ v W 41 59 R B

Example: Suppose Q.No. 41 of the subject is as below:

Q.No. 41:  What type of mixture is smoke ? gaﬁ 5w vaR 1 fasmr g ?
(A) Solid mixed with a gas (A) 5 ffda oW
(B) Gas mixed with a gas B) i fifdm *a '_:
(C) Liquid mixed with a gas () v faf¥a w3
(D) Gas mixed with a liquid and a solid (D) %a vq o fafdm W <
M} D ATEAR T ¥ F WE I /RFew (D) 2, @ SeR-1% A 39 A A Haftwd fva-avg B we W@ E
413 9 B T B 59 UK WX
If you think the correct alternative answer is (D), then fill in the relevant column of the same section of the OMR U:

Answer-sheet as follows:
we Ry Teret fafy
Correct method Wrong method i

OO

(@ o Ry & @ el ama M F B R T T @ @ W9 SR @ e R @ il @ SgER e IwR
A gY IS Fafe 3@ FOMeD B ¢ )

(If more than one circle is darken or any impression by the candidate either properly or improperly then % mark will be
deducted for every question.)

T qlefia @ Ry v R v & o @ AR 9= 5w ve-gRae ¥ o w9 s Ie wWen IRyt sem
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The candidates are strongly advised that in case they come across any discontinuity in the serial number of the
questions/pages in their Question-booklet, they should immediately inform the Invigilator so that missing pages, if
any, may be supplied to them ;
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Use of electronics/manual calculator and any electronic equipment like mobile phone, pager etc. is not allowed.
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There is NEGATIVE MARKING in this examination. For every wrong answer %: mark will be deducted.
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On giving of two or more than two answer for every question, % mark will be deducted.
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Do not write anything except the Roll Number and rough work in this Question booklet.
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Fold along perforation, given on the top of OMR Sheet and tear it slowly after examination is over. Candidate will |
carry candidate’s copy and handed over the original and office copy of OMR Answer Sheet to the Invigilator. |

indiresult.in whatsapp - 9352018749

| /@//)INDIRESULTE

YOUR SUCCESS PARTHNER






